
1

3 15x

4

4

2 15x

5

5

6

6

7

9

9

8

ITM # PART # DESCRIPTION QTY.
1 1000497 Deep Pan 1

N/A 70396BA Hardware Package includes: 1
2 3401486 M6-1.0 x 25mm Screw 15
3 3401487 M6 Flat Washer 15
4 3401195 M6 Lock Washer 2

ITM # PART # DESCRIPTION QTY.
5 3401723 M6-1.0 x 12mm Screw 2
6 3401488 П⁄И" Flat Washer 2
7 3401492 П⁄Ж" MagneƟ c Socket Plug 1
8 3401485 П⁄М" NPT Plug 1
9 3401722 Ring Magnet 2

70399  Parts Breakdown
Fits: GM 2019+ TRUCKS WITH ACCUMULATOR

8L90E Transmissions




